Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX Opaque Masonite FG Door XX - IMPACT\C - Drawings\TX-5256.dwg

POWERED BY'i"l

ENDURA.

DOOR COMPONENTS MADE IN THE USA

Ultimate Flip Lever Astragal

in a Double Door

INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind bome debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

DESCRIPTION

Typical Sections, Design Pressures & General Notes
Door Panel Detdils

Vertical Cross Sections

Horizontal Cross Sections

Frame Anchoring

Bill of Materials & Components

SHEET #

OB i OIN |

Ultimate Flip Lever Astragal

%_,\‘aq:,\.\}'\'\.
f e i Y
s’ w0 ;

a‘?c) 0%

o G H
Y e 3
Pl P L
N 193

g""j e~ PRL

P . <
2 U4 H
%.°% i
i}sf‘}',;;". H

{‘fl 5"’"%,
il ‘(’6\ “u.=>’
. F %10
i g XS

12 0.2/

e 73.97" MAX. FRAME WIDTH
2
22 <&
<= [0 )
02 %2
T E <
= =X e
<C T = (D
=5 Y4 e X
§ T w
I*) <€
2
ULTIMATE FLIP LEVER ASTRAGAL by ENDURA
DESIGN PRESSURE RATING (PSF)
AXIMUM FRA
MAXIMU ME SIZE POSIIVE NEGATIVE
MASONITE INSWING 73.97" X 81.94" +70.0 -70.0
Opaque
(FIBERGLASS) OUTSWING 73.97"X 81.12" +70.0 -70.0

SEE SHEET 6 FOR THRESHOLD DESIGN PRESSURE LIMITATIONS

uj
QR
£2 ., Eu
L
G . : 9 £0
ayogn 2y
u:n. = N~ l.th‘
.o
- - Eﬁh
8 ggg ZZ
c- £t 29
3 B =
3 S50 @
23w QE
-
s §8% 83
) O N - o
9 x©
o 0 XZ
@ £m, oY
2 255 o
] 5Q¢ %E
& o 35
o
R
Lo
£ o
[5]
o
o
n
>
BO
n<
by
[
S
Pl
< ZZ
Qc oy O
2 |G E°©
% Ml ©
= 3
Lu ol
1) wn
0]
<} T
£ L2
o Xl gwn
3 O =t
o] o
e Q.
& &
>.
m
[72]
=
Q
wn
"
[n et
fu
<€
(o]
o
=z
oATE: 12/16/21
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5256

sHeer 1 ofF 6

© 2021 R.W. BUILDING CONSULTANTS INC.



CONL BANVLINSNGOLD SNIQTHNE MM L2028 @

ZS8LL—4 # NOLLVRSIONY 40 ILVOIILYNID STvI3a SNOISIAZY i
SHIAANIONT TVNOISS3JO¥d 40 QuvOE SYXIL Ad 3ivad [ONIz ©
TANYd ¥00a NI ©
LBL6'BSO'CLE ION euold : o] = 1&|S w
S6GEE 14 OOWIDA OEZ XO8 O°d \Su@ ATENISSY ¥0 Luvd N 58 |°
"ONI ‘SINVLINSNOO ONIGTINg N e z W 2_
~. &|2
£ZLPOLF “3'd SvXEL VHNAaN3 gi m g|x|Z B
‘3'd IPIUYOS "4 uopuky :Ag pedodeld spuswnoo(q 19Naodd 218 3 515 =
s207:24
o
Q
ki anan [»'4
L
o
X .
1‘ :p L mo l

7“2\ VERTICAL CROSS SECTION

=5 (4% A =
=0 _ o w s -
oF3 w3 o O% Eo
L o ol = > o0

Gnu. bl

b a =)

L

[==]

i

e [T B
Ww ‘}..WN.wll‘ —
30) )
Q
) 52 ~Z
ll/qqll/ — 98
e g8 @
7 = &
i 1
[ 7 7<)
& M L)
< <
= Z
0O
[ ]
o
e}
& A
< O«
Q 4
2
(747
a3 o
o o 3 %)
O O ae x
o o v =
] LLS od
z -
S
R (28]
o %
_x W.EL
AU 61°88 | E
N mm_l
GG T
b 4* oy
| L7
a ' o°®
oz ——
(e Ho g
=Y
ool - == (g
52 = 3 g
e ——
mw
- IHOEH TANVd ‘XYW ,ST'6/

BmMpP'g5zs-X L\sBUIMRIQ - D\LDVdIAL - XX 1000 D4 s1uosejy anbedO XXXX-dd - 1a1\su] 0 1daq sexal - S\LNINVINYId einpua\susld\Z



"ONI SINVLINBNOD 8NIgng "M'd 1202

ZS8LL—4 # NOLLVMISIONN 40 ILVOIJILNED SNOISIAFA
SYIINIONT TYNOISSIA0Nd 40 ANVOgE SvyX3l SNOILJIS SSOND WOLLMIA Ag 41vd [ON

LBLE'BGO'CLE "ON ouoyd i
GBSET "ld OSMIPA 0SZ Xog ‘O'd \N\w@ CATENESSY MO 1dvd
*ONI ‘SINVLINSNOO SNIaTIng

RW
LFS

TX—5256
SHEET _3 OF _6

SZLYOLF "I'd SVXIL VHNAN3
"A'd IPIUIYDS 4 uopukl :Ag pedodeld sjusuinoog 1130aoNd

paTe: 12/16,/21
scuE N.T.S.

DWG. BY:
CHK. BY:
DRAWING NO.:

EXTERIOR

INTERIOR

DRYWALL

CONCRETE
4\ VERTICAL CROSS SECTION o

\3_/ Qutswing sill

o NSO
i

¢

;\/
/"1 "\ VERTICAL CROSS SECTION
W Outswing shown (Inswing similar)

7
INTERIOR

K ) wooD
D ) CONCRETE

15

EXTERIOR

Inswing sifl

EXT. SHEATHING \

EXTERIOR
8
VERTICAL CROSS SECTION

\\
oy
5

K ) wooD
D ) CONCRETE

EXTERIOR

ELEVATION
XX
Inswing sill

VERTICAL CROSS SECTION

X

4

2
/“x

(2
3/

®

q
I
P
@
INTERIOR

Bmpr9gzs-X1\sBumeld - D\LIVdINI - XX 100Q D4 snuose anbedO XXXX-4d - 1Q1\su] 40 1daq sexaL - SALNINYNYId Binpua\susid\z



TONL SINVYLINSNOD aNIGUNE "M L2202 @]

ZS8LL—d # NOLVHISIORM 40 ILVOIALLNEO SNOISIAFY

SUAINIONT TVNOISSIAOMd 40 QMVOS SvX3L SNOILO3S SS08D WINOZIHOH | Ad 41va@ JON|=) =0l © 6_

LBLE'6SO'CLE ON OuoUd : olE|El »
GESEE 14 OoLIoR 0Z X608 O \Su@ KTGNISSY d0 Livd 2l . y|e
“ONI ‘SINVLINSNOD ONIaTiNg N J 4_

—| . |&|&|g
CZIYOL# I'd SVXAL VANAN3 ] m S| ¥ S &
‘I'd IPIMYDS '3 Uopukl  ifg pedbdeud sjuswinoog :10Naoyd HEIHEE &

~ . MN w\ q O Y .\
Pl euoo..::-o::t.:.::.:-:-:.: .
ﬂv. w ﬂvae : vo.:ct:~oo::?‘¢:o\u
nw,L..,.» * £

"'2?:
2
L)

o P
&.ﬁ%%ﬂw?&p{

asansesveners ‘u # “
3 % A

By S5 g
3

m HORIZONTAL CROSS SECTION
W Outswing shown ({Inswing similar)

INTERIOR
EXTERIOR

-

0.15"
C'SINK

@

DRYWALL —\

/1 \ HORIZONTAL CROSS SECTION
\U Outswing shown (Inswing similar)

B

Bmp'9szs-XL\sBuImeIq - D\LDVIAIL - XX 1000 D4 3Hu0se anbed( XXXX-¥Q - 1AL\su] 40 1daq sexat - \ININVINYId BINPUI\SIUSIO\Z .



2

F1)
i R
H 53 o 2 o
. A : " £ ; o0 H ‘g
The head is attached fo g e £* B ZF
the jomb w/ (3) 7/16"x 2" 2 : ': ] J ,f,’\ %u‘.
steel crown staples (TYP.) rme) ] 6" (TYP.) {'i ‘: v B w
4«: ’ € ‘: -g S g 8 g é Z
(TYP) »' * ’ : sk Sty 22
- ! : - 5845 0
_ B AR l i 2o gé
| SEEHINGE \ —_ NS 5 8R - gg
e |
Bl oeaw DETAIL 1 3 252 b,
< . oo o 8 . o
3\ o — | ©E Pogddge
£ HEAD & JAMBS 2 § of
7@ 25 ) : 38
e [I] e+ o 9 § g Wo
f’ - ‘\ — W— 5
il ‘<>@ ] _SEELATCHS. 3
— T ﬂig X X DEADBOLT STRIKE
\ f _ _ PLATE DETAIL
\ @] |
O >
¢ SEE HINGE CONCRETE Q z o
HINGE DETAIL 1 >z DETAIL 2 - nZ:
= — WOoOoD o - 9z < | g
o € 158
DETAIL 2 % 2 |5 S
SILL = S |al
(TYP) O w
. _ Gl w
TV T 1 L 111 l g 3
7 [ [
(1) 5" (TYP.) —~] o 3 vy S 5
el HINGE JAMB 4" (TYP)) ASTRAGAL STRIKE 8 i
NiE=20) HINGEIAME £ (TP & |8
The threshold is attached fo the jamb )
w/ (3) 7/16" x 2" steel crown staples & FRAME ANCHORING
(1) #8 x 1-5/8" wood screw (TYP.)
HINGE DETAIL 2 “
(28) 0
=
o
7]
) <
| )
Ve LATCH & DEADBOLT STIRKE PLATE DETAILS "
: —
\ S
I e ] == T fe3 | 5
‘\\ =3 DATE: 12/16/21
ScAE:  N.T.S.
pena (1) DETAIL2 DETAIL2 o R
‘ , Inswing WOOD Outswing wOOD cHK. B:  LFS
DRAWING NO.:
CONCRETE CONCRETE TX—5256
SHEET _ 5 oF 6

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX Opaque Masonite FG Door XX - IMPACT\C - Drawings\TX-5256.dwg

© 2021 R.W. BUILDING CONSULTANTS INC,



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-XXXX Opaque Masonite FG Door XX - IMPACT\C - Drawings\TX-5256.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A | 2XFRAMING (SG >= 0.42) wOOD
C [ 1/4"MAX. SHIM SPACE -
D | 1/4"PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F | #10X2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
G | 3/16"PFH ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
K | #10 FH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
L |#10X2-1/2" PFH WOOD SCREW (1.5" MIN. EMBEDMENT) STEEL
] FINGER JOINTED PINE JAMB wOoQoD
7 | WEATHERSTRIP FOAM
8 | SWEEP PVC
9 | #9X3/4"PFH WOOD SCREW STEEL
10 | #9 X 1"PFH WOOD SCREW STEEL
11 [ 4'X4"BUTT HINGE STEEL
13 | INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
15 | INSWING ACCESIBLE THRESHOLD ALUM
26 | #8 X 2-1/2' PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL -
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
50 | ENDURA ULTIMATE FLIP LEVER ASTRAGAL ALUM
51 | ASTRAGAL BOLT STRIKE PLATE STEEL
52 | #8X3"FH WOOD SCREW STEEL

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

TWBUILDEX | 3/16" | 13/& i 172

TAPCON® | 1/8" 1-3/4 Py 4
D WA‘.T " " A
oiracons| 174 1-3/4 L 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws

to prevent the splitting of wood.

*
*

W
....,,E}t?@

wnj.ga‘HM‘ QT

S
oy
NDON F
‘ *

1.2

14" ]

L*—*-—* 4.56"

13 INSWING ADJUSTABLE THRESHOLD

ZAIL4565

0.5"

0.75"
SOCOUY
'O.‘E T
F ?:".. ,% g ..'n_ ?

%
o
¢
pod
vuo("
1
P
P

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL, 33595

BUILDING CONSULTANTS, INC.
Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Ry

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F-11852

4.56"

14 OUTSWING THRESHOLD
LOBL4565

??@F‘@"‘%

4.56"

15 INSWING ACCESSIBLE THRESHOLD

ADAPI4562

MAX. DESIGN PRESSURE = +65/-65 PSF

N

>
fae

RN

I~— 2.65"

/
— 0.063"

NYLON BOLT RETAINER

5/16" @ STEEL SLIDE BOLT

(17" LONG) @ EACH END

@ ENDURA ULTIMATE FLIP LEVER ASTRAGAL

ENDURA

PART OR_ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

REVISIONS

L
<C
0y
S
ped

DATE: 12,/16,/21

scAlE: N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-5256

SHEET 6 oF 6

@ 2021 R.W. BUILDING DONSULTANTS NG,



